EXCHANGE RATES

Pearson Edexcel - Specimen Papers Set 1 - Paper 2 (Calculator) Higher Tier

1.

2 Three companies sell the same type of furniture,

The price of the furniture from Pooles of London is £1480
The price of the furniture from Jardins of Paris is €1980
The price of the furniture from Outways of New York is $2250

The exchange rates are
£l =€1.34
£1 = §1.52

Which company sells this furniture at the lowest price?
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(Total for Question 2 is 3 marks)

Pearson Edexcel - Sample Paper 3 - (Calculator) Higher Tier

2.



(&)

Anif iz pome on holiday to Turkey:

The exchange rate 15 £1 = 35601 bra.
Asif chanpes £3550 to hra.

() Work out hov many hira he should get.

Give your answer to the nearest lira,

Asif sees a pair of shoes in Turkey.
The shoes cost 210 lira.

A=if does not have a ealeulator
He uses £2 = 7 lira to work out the approsaomate cost of the shoes in pounds.

(1) Usze £2 =7 lira to show that the approximate cost of the shoes 15 £60

()

(2} Is vsing £2 = 7 lira mmstead of wsmgz £1 = 3 3601 hra a sensible start to Asif’s methad
to work out the cost of the shoes m poumdsT

¥ou st give a reason for vour answer.

(1)
(Total for Question 2 is 5 marks)

Pearson Edexcel - Friday 7 November 2014 - Paper 2 (Calculator) Higher Tier

3.



6 Margaret is on holiday in France.

She buys an English newspaper.
The cost of the nevspaper is 5 euros.
In England, the cost of the same newspaper is £2.50

The exchangs rate 15 £1 = 1.16 euros.

Work out the difference betrreen the cost of the nevspaper in France and the cost
of the nevrspaper n England

(Total for Question § is 3 marks)

Pearson Edexcel - Friday 8 November 2013 - Paper 2 (Calculator) Higher Tier
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5 Ben goes on hohday to Hong Kong.

In Hong Kong, Ben sees a camera costing HKS3179.55
In London, an identical camera costs £285

The exchange rate 1s £1 = HK$12.30
Ben buys the camera in Hong Kong,

How much cheaper is the camera in Hong Kong than in London?

(Total for Question 5 is 3 marks)

Pearson Edexcel - Thursday 8 November 2012 - Paper 2 (Calculator) Higher Tier

5.



il In the UK, petrol cost £1.24 per litre.
In the USA, petrol cost 3.15 dollars per US gallon.

1 US gallon = 3.79 litres
£1 = 1.47 dollars

Was petrol cheaper in the UK or in the USAT

{Total for (ruestion 10 is 4 marks)

Pearson Edexcel - Wednesday 13 June 2012 - Paper 2 (Calculator) Higher Tier
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% Linda iz going on holiday to the Caech Republic.

Zhe needs to change some momey o konema.
She can only change her money into 100 koruna nofes.

Linda oaly wanis to change up to £200 inio koruna,
She wants as many 100 koruna nides as possible.

The exchange rate is £1 = 2582 korina

How many 100 korona notes shouald she ger?

(Total for (uestion 9 ks 3 marks)

Pearson Edexcel - Monday 5 March 2012 - Paper 4 (Calculator) Higher Tier
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3. Rosie and Jim are going on holiday to the USA.
Jim changes £350 into dollars (S).
The exchange rate is £1 =81.34

(a) Work out how many dollars (S) Jim gets.

In the USA Rosic sees some jeans costing S67

In London the same make of jeans costs £47.50

The exchange rate is still £1 =51.34

(b) Work out the difference between the cost of the jeans in the USA and in London.
Give your answer in pounds (£).

(Total § marks)

Pearson Edexcel - Monday 14 November 2011 - Paper 4 (Calculator) Higher Tier
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9. The exchange rate in London is £1 = €1.14
Thi exchange rate in Paris is €1 = £0.86

Elaine wants to change some pounds indo euros.

In which of these cities would Elaine get the most euros?
You must show all of your working.

{Total 3 marks)

Pearson Edexcel - Friday 11 June 2010 - Paper 4 (Calculator) Higher Tier
9.



3. InAugust 2008, Eddie hired a car in Italy.

The cost af hiring the car was E620
The exchange rate was £1 =£1.25

(a) Work out the cost of hiring the car in ewros (€).

4
Eddie boughl some perfume in ltaly.

The cost of the perfume in faly was €30
The cost of 1he same parfume in London was E42

The exchange rate was still £1 =€1.23

(b) Work out the difference between the cost of the parfume in Italy and the cost of the
perfurne in London.
Give your arswer in pounds ().

e
(Total 5 marks)

10.



